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Ty (w) = cos®(2W) {3 (1 + cos®(wT)) + sin®(w)

— 2p4% cos(wT) cos(wTpr) — 2p1 sin(wr) sin(wrpr)}, (A.8)
Tr(w) = cos®(2W2){pa (1 4 cos?(wr)) + sin®(wr)
— 2443 cos(wT) cos(wTpn) — 2p9 sin(wr) sin(wrps)}, (A.9)
T3(w) = cos(2¥7) cos(2W2)n(w), (A.10)
n(w) = {cos(wt) — cos(wrp) }{cos(wr) — cos(wTpa) 1 p2
+ {sin(wt) — p1 sin(wrpy) Hsin(wr) — pg sin(wrue)} (A.11)

00000000 =cosf; 0000
A()?0000000000000000000

1 2 € us
IA(W)]?2 = — dW/ de/ sin 0dO|A(w)/? (A.12)
872 Jo 0 0
gooooo

0000000000000 (61,%)0 (2,9) 00000000 O T, 00000

goboodgboboooood

1
ThW=1T= - / d¥; de db; sin 6111 (A.13)
872
1 2 1 2 ) 4 .
=5 {(1 + cos” u) <§ — ﬁ) + sin“wu + Esmucosu} (A.14)

0oobdb0Ovw=wrgoogo7s00000

Uy =V + « (A.15)
gooooo
_ 1
T3 = — dlpl de d@l sin 01T3 (Alﬁ)
82
1
= % de d6; sin 61 cos(2a)n(u, 01, 62) (A.17)
T
oooooooo
. sinysine
7" Al
sin «v Snfy (A.18)
cos By = cosycos by + sin~ysin by cose (A.19)

gobooboooboooooboboboooborsogoooboooboooobooobooon
goboooboobooobon



76 O0O0A O00000O0ODOOOCOOO00O00ODOoOOOoOoOogono

goooooooooonooooooo
2 _ _

R(u) = E(Tl —T) (A.20)
= % {(1 + cos? u) <% — %) + sin u

4 1
+ —5 sinucosu ——/de df; sin 6y (1 — 2sin” a)n(u, 91)} (A.21)
u 4

00000000000 «w0000DU00O0O00R(w)D LOODDODDOODUOR)ODODOOODO

000 A20000

1005 LB AR ) LB ALY | LB AL LB ALY | 1 LI LB LLLI g

0 A2 0000 R)DODOODDO0OO0y=7/30000000000w=wr0000
0b0b0b00.0000000000D000O0000 LOD0OD0ODOO0O00w>100
ggbooobobooobbobbw—0000000000000

00000000000
4
T, ~ —u? (A.22)

T3 ~ (i — Zsin? 'y> u? (A.23)



A2. FP-DECIGOOOOOODOOOO 7
obobobooRrROObOobDobDOoD

R= % sin? (A.24)

0000000000« >100000000000000000

u~ 1000LISA(L ~ 5 x 105%km) O f ~ 1072Hz0 DECIGO(L ~ 5 x 10*km) O
f ~ 1HzO FP-DECIGO(L ~ 5 x 10%km) 0 f ~10°Hz000000000000000
ooooooo0od

A.2 FP-DECIGOUOUOOOOOODDOOO

0000000 MichelsonOOOOOOODOOOOODODOOOOFP-DECIGODO FPO
00000000000 (A2)DODODODO0OOO0O0O0D0OD0OFPOOOOOOOOOODOO
MichelsonO D OO UODODOOUOODOOOODOOOODOOODOOODOO

R(w)
\/1 + Fsin?(wL/c) (4.25)

000003000000000003000000

|Hup(w)| = N

L’ ac

1—rprg

’0DDO00D0D0D000DO 30000000000






79

0 0B 0OO000OOODOOOS/COO00O0O
oo

O0000000oooooooOooOoos/cooooood

WP ST o S €1 SR

gogboboobobooboobooboobuobbobbobobobobobonon
0000000oooooooO (B1H)DOOoOooo

B.1 0O0O0O0O0OOdOd

0000000000 000noooooooooooOd MATLAB6.5.100000OMAT-
LABOOOOOOOODOOOO0OO0DO0D0O0D0000000O0O0O0ede0 00000000
0000000 ode1130 000 Hode1130 000 00O Adams-Bashforth-Moulton PECE
0000000000000 0OoODENDNODOOONDNOOONDNOONONDOODDOOOd ode
oooooooooon

ode 10000000 DOOOOODODOOOO ODEOOOODOOOOODODODOODE
0000000000000 ¢t00000y000000000y =dy/dt00000O0
00000oon odefun DO OO OOOOODOOO yO

[t,y] = ode113(’odefun’,t, 1o, option) (B.2)

0boboobooodbDdywbybOt=00000000oeption0 0000000000
gooooboooooon

B.1.1 0000OO0OO

gobogoboobspooooooobooboobooougpobobobbobbogobn
00j=12300S8/CO000000000O0ODOOOOOO

e u =eccentricanomaly(t;n,, Mop,ep) : 0000000000 «00000



80

00B 00000OOOOOOS/COODOO0O0O0O0

xp, =positionP(t;ap, ep, ip, wp, 2, Mop,mp) : 0000000000

(ap, €p, ip, wp, §25, Mop, mp) =planet_element2004 : 000 20040 70 14.000
Oooddbobodooododoboooooooboboooooooooog 7x90
ogoooood

dy;/dt =eqm_potential _by_all P(t;y,,): 00 t0000 y,, 000000 (B.1)
000000000 0y,(t) = (zi(t),v;(t) 0000

x; =position(t;a,e,i,w,2,My) : 00 0000000000000 S/CO000
gooo

v; =velocity(t;a,e,i,w,2,My) : 00 0000000000000 S/CO0D000
0ooQ

(x1, T2, x3) =orbit_perturbed_byP(t;a,e,i,w, 2, My) : 00000000000
s/cCO0o00ooooo

(L12, Log, L31) =distance_perturbed_byP(t;a,e,i,w, 2, My) : 00000000
OO0 S/coooooooo

goobobobobobobobobobUo B1IOUObDODOD

B.1.2 MATLABOOQO

ggboooooond

function u=eccentricanomaly(w,M,t,e);
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h
h
h
h
h
h

solution of Kepler equation : wt+M=u-e*sinu

u=wt+M+sum[2/n*Jn(ne)sin(n(wt+M))]

W
t
e :
n
M

: mean motion

: time

eccentricity

: number of series factor

: mean anomaly at epoch

Jn(x) : Bessel functions of the first kind
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1=w.*t+M;

u=l;
n=1;

while 2/n*besselj(n,n*e)>eps;
n=n+1;

end

for i=1:n
u=u+2./i.*besselj(i,i*e) .*sin(i*1l);

end

f=u;

gbooooboo

function x=positionP(a,e,i,w,W,M,mp,t);

% The position of a planet give in orbit elements
h
h
h
h
h
h
h

% mp : mass

semi-major axis at epoch

: eccentricity at epoch

inclination at epoch

: argument of percenter at epoch

longitude of the ascending node at epoch

2 == P 0 @

: mean anomaly at epoch

%t : time from epoch

h

GS=6.673%1.9889e19;
G=6.673e-11;

n=sqrt (GS+G*mp) ./a.~(3/2);

% position of the body

u=eccentricanomaly(n,M,t,e); % eccentric anomaly of the body
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X=a.*(cos(u)-e);
Y=a.*sqrt(l-e."2).*sin(u);

x=(cos(w) .*cos(W)-sin(w) .*sin(W) .*cos (1)) .*X

+(-sin(w) .*cos(W)-cos(w) .*sin(W) .*cos (1)) .*Y;

y=(cos(w) .*sin(W)+sin(w) .*cos(W) .*cos(i)) .*X

+(-sin(w) .*sin(W)+cos(w) .*cos (W) .*cos(i)) .*Y;
z=sin(w) .*sin(i) .*X+cos(w) .*sin(i) .*Y;

x=[x’,y’,2’1;

gooooood

function dy=eqm_potential_by_all_P(t,y);

G=6.673e-11;
GS=6.673%1.9889e19;
pe=planet_elment2004;

% position of Mercury
aMe=pe(1,1);
eMe=pe(1,2);
iMe=pe(1,3);
wMe=pe (1,4) ;
WMe=pe (1,5) ;
MMe=pe(1,6);
mMe=pe (1,7);

pMe=positionP(alMe,elMe,iMe,wMe,WMe,MMe ,mMe,t) ;
xMe=pMe (:,1);
yMe=pMe (:,2);

zMe=pMe (:,3);

% distance bitween S/C and Planet

rMe=sqrt ((y(1)-xMe) . 2+(y(2)-yMe) ."2+(y(3)-zMe) .

~2);
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% gravitational force to S/C by planet
fMex=-G*mMe* (y(1)-xMe) ./rMe. "3;
fMey=-G*mMex* (y (2)-yMe) . /rMe. " 3;
fMez=-G*mMe* (y(3)-zMe) . /rMe. " 3;

% position of Vinus
aV=pe(2,1);
eV=pe(2,2);
iV=pe(2,3);
wV=pe(2,4);
WV=pe(2,5);
MV=pe(2,6);
mV=pe(2,7);

pV=positionP(aV,eV,iV,wV,WV,MV,mV,t);

xV=pV(:,1);
yV=pV(:,2);
zV=pV(:,3);

rV=sqrt ((y(1)-xV) . " 2+(y(2)-yV) ."2+(y(3)-2V) ."2);
fVx=-G*mV* (y (1) -xV) ./rV."3;
fVy=-G*mV* (y(2) -yV) ./rV."3;
fVz=-GxmV* (y(3)-2zV) ./rV."3;

% position of Earth
aE=pe(3,1);
eE=pe(3,2);
iE=pe(3,3);
wE=pe(3,4);
WE=pe(3,5);
ME=pe(3,6);
mE=pe (3,7) ;

pE=positionP(aE,eE,iE,wE,WE,ME,mE,t) ;
xE=pE(:,1);

yE=pE(:,2);
zE=pE(:,3);
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rE=sqrt ((y(1)-xE) . 2+(y(2)-yE) . "2+ (y(3)-2E) ."2) ;
fEx=-G*mE* (y (1) -xE) . /rE."3;
fEy=-G*mE* (y (2)-yE) . /rE."3;
fEz=-G*mE* (y(3)-zE) . /rE. "3;

% position of Mars
aMa=pe (4,1);
eMa=pe(4,2);
iMa=pe(4,3);
wMa=pe (4,4);
WMa=pe (4,5) ;
MMa=pe (4,6) ;
mMa=pe (4,7) ;

pMa=positionP(aMa,eMa,iMa,wMa,WMa,MMa,mMa,t) ;

xMa=pMa(:,1);
yMa=pMa(:,2);
zMa=pMa(:,3);

rMa=sqrt ((y(1)-xMa) . 2+(y(2)-yMa) . "2+(y(3)-zMa) ."2);
fMax=-G*mMax* (y (1) -xMa) . /rMa. " 3;
fMay=-G*mMa* (y(2)-yMa) . /rMa. " 3;
fMaz=-G*mMax* (y(3)-zMa) ./rMa. "3;

% position of Jupiter
aJ=pe(5,1);
eJ=pe(5,2);
iJ=pe(5,3);
wJ=pe(5,4);
WJ=pe(5,5);
MJ=pe(5,6);
mJ=pe(5,7);

pJ=positionP(aJ,eJ,iJ,wJ,WJ,MJ,mJ,t);

xJ=pJ(:,1);
yJ=pJ(:,2);
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zJ=pJ(:,3);

rJ=sqrt ((y(1)-xJ) . 2+(y(2)-yJ) .72+ (y(3)-2J) ."2);
fIx=-G*mJ*(y(1)-xJ) ./rJ."3;
fIy=-GxmJI*(y(2)-yJ)./rJ."3;
fJz=-GxmJ*(y(3)-2zJ) ./rJ."3;

% position of Saturn
aSa=pe(6,1);
eSa=pe(6,2);
iSa=pe(6,3);
wSa=pe(6,4);
WSa=pe(6,5);
MSa=pe(6,6) ;
mSa=pe(6,7);

pSa=positionP(aSa,eSa,iSa,wSa,WSa,MSa,mSa,t);

xSa=pSa(:,1);
ySa=pSa(:,2);
zSa=pSa(:,3);

rSa=sqrt ((y(1)-xSa) . 2+(y(2)-ySa) . "2+(y(3)-zSa) ."2);
fSax=-G*mSa* (y(1)-xSa)./rSa."3;
fSay=-G*mSax*(y(2)-ySa)./rSa."3;
fSaz=-G*mSax*(y(3)-zSa)./rSa."3;

% position of Uranus
aU=pe(7,1);
eU=pe(7,2);
iU=pe(7,3);
wU=pe(7,4);
WU=pe (7,5) ;
MU=pe (7,6) ;
mU=pe (7,7) ;

pU=positionP(aU,eU,iU,wU,WU,MU,nU,t);

xU=pU(:,1);
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yU=pU(:,2);
zU=pU(:,3);

rU=sqrt ((y(1)-xU) . 2+ (y(2)-yU) . "2+(y(3)-2U) . "2) ;
fUx=-G*mU* (y (1) -xU) . /rU."3;
fUy=-G*mU* (y (2) -yU) . /rU."3;
fUz=-G*mU* (y (3) -zU) . /rU. "3;

% position of Neptune
aN=pe(8,1);
eN=pe(8,2);
iN=pe(8,3);
wN=pe (8,4) ;
WN=pe (8,5) ;
MN=pe(8,6) ;
mN=pe (8,7) ;

pN=positionP(aN,eN,iN,wN,WN,MN,mN,t);

xN=pN(:,1);
yN=pN(:,2);
zN=pN(:,3);

rN=sqrt ((y(1)-xN) . 2+(y(2)-yN) ."2+(y(3)-2zN) . "2) ;
fNx=-G*mN* (y (1) -xN) . /rN."3;
fNy=-G*mN* (y(2) -yN) . /rN."3;
fNz=-G*mN* (y (3) -zN) . /rN. "3;

% position of Pluto
aP=pe(9,1);
eP=pe(9,2);
iP=pe(9,3);
wP=pe (9,4) ;
WP=pe(9,5);
MP=pe (9,6) ;
mP=pe(9,7);

pP=positionP(aP,eP,iP,wP,WP,MP,mP,t);
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xP=pP(:,1);
yP=pP(:,2);
zP=pP(:,3);

rP=sqrt ((y (1)-xP) . 2+ (y(2)-yP) ."2+(y (3)-zP) ."2);
fPx=-G*mP* (y(1)-xP) ./rP."3;
fPy=-G*mP* (y(2)-yP) ./rP."3;
fPz=-G*mP* (y(3) -zP) . /rP."3;

% position of Moon
aM=pe(10,1);
eM=pe(10,2);
iM=pe (10,3);
wM=pe (10,4);
WM=pe (10,5) ;
MM=pe (10,6) ;
mM=pe (10,7) ;

pM=positionP(aM,eM, iM,wM,WM,MM,mM,t) ;

xM=pM(:,1);
yM=pM(:,2);
zM=pM(:,3);

rM=sqrt ((y (1)-xM) . 2+ (y(2)-yM) . "2+ (y (3)-zM) ."2) ;
fMx=-G*mM* (y (1) -xM) . /rM. "3;
fMy=-G*mM* (y (2) -yM) . /rM. "3;
fMz=-G*mM* (y (3) -zM) . /rM. "3;

% force from Sun
r=sqrt(y(1). 2+y(2) ."2+y(3).72);
£Sx=-GS*y(1)./r."3;

fSy=-GS*y(2) ./r."3;

£Sz=-GS*y(3) ./r."3;

dy(1,:)=y(4);
dy(2, :)=y(5);
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dy(3,:)=y(6);

dy (4, :)=fSx+fMex+fVx+fEx+fMax+f Jx+fSax+fUx+fNx+fPx+fMx;
dy (5, :)=fSy+fMey+fVy+fEy+fMay+f Jy+fSay+fUy+fNy+fPy+fMy;
dy (6, :)=fSz+fMez+fVz+fEz+fMaz+f Jz+fSaz+fUz+fNz+fPz+fMz;

s/cO000000

function p=orbit_perturbed_byP(a,e,i,w,W,M,t);

% position and velocity of S/C with the perturbed by the Earth
/A

% orbit elements at t=epoch

% a : semi-majo axis

% e : eccentricity

% i : inclination

/A
h
h
b

: argument of pericenter
: logitude of the ascending node

: mean anomaly at epoch

¢ =2 = =

: time

% position of S/C at epoch
x0=position(a,e,i,w,W,M,0);
% velocity of S/C at epoch
vO=velocity(a,e,i,w,W,M,0);

p0=[x0(1),x0(2),x0(3),v0(1),v0(2),v0(3)];

options = odeset(’RelTol’,2.22045e-014,
>AbsTol’, [1e-100 1e-100 1e-100 1e-100 1e-100 1e-100]);

[t,pl=0del113(’eqm_potential _by_all_P’,t,p0,options);
S/CO000000
function l=distance_perturbed_byP(a,e,i,w,W,M,t);

% distance bitween S/C with the perturbed by the all planets and Moon.
o
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% orbit elements at t=epoch
h
h
h
h

a : semi-majo axis
e
i
W
% W : logitude of the ascending node
M
t

: eccentricity
: inclination

: argument of pericenter

h
h

: mean anomaly at epoch

time

pl=orbit_perturbed_byP(a,e,i,w,W,M,t);
p2=orbit_perturbed_byP(a,e,i,w,W+2*pi/3,M-2%pi/3,t);
p3=orbit_perturbed_byP(a,e,i,w,W-2*pi/3,M+2*pi/3,t);

112=sqrt ((p1(:,1)-p2(:,1)) . " 2+(p1(:,2)-p2(:,2)) .7 2+(p1(:,3)-p2(:,3))."2);
123=sqrt ((p3(:,1)-p2(:,1)) .7 2+(p3(:,2)-p2(:,2)) .7 2+(p3(:,3)-p2(:,3))."2);
131=sqrt ((p1(:,1)-p3(:,1)) .7 2+(p1(:,2)-p3(:,2)) .7 2+(p1(:,3)-p3(:,3))."2);

1=[112,123,131];
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